
Sunday, March 19

Written Test 2 Review 



&... e.g.
auegers

a tuple,triedscending
order

-
output.--

-> integernon-

costconditi
- -

section
a intult

-
the condition

the cut itsee *assert (Ai.i (in 1.. (eucoutputs-1P*put Inf output [i]<=output[c+1]

277
Q. Is this postcondition correct & complete?
- Given a correct pair ofinput/outputsi assertion should pass.tit'aciatethe

- Given anetpair ofinput/outputsin
assertion should fail.



synt"Endevriableformgearare
not"es sxG(es)
edz)
Compare to 70.



4:Ieat

G:Igo to school

Ina to school

G((xg) =p)



EAFdz?
Fir: T =S0-... -
Fi. 15
I

!



soE(102)

Fi. T =So- ...

55. IX

(5.5, D


